White Year 3 - Autumn - Block 3

Rase L
Multiplication & Division




Which row of money is the odd one out!

Explain why.
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Match the equal groups together.

‘ E E Three 5s

Two 10s

Two 3s
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There are 8 children.
Each child has 3 sweets.
How many sweets altogether?

Use concrete or pictorial representations to show
this problem.

Write another repeated addition and multiplication
problem and ask a friend to represent it.
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Share 33 cubes between 3 groups.

Complete:

There are 3 groups with cubes in each group.
33 -3 =

Put 33 cubes into groups of 3
Complete:
There are groups with 3 cubes in each group.

33 -3 =

What is the same about these two divisions!?
What is different!?
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Maths
If 5 X 3 = |5, which number sentences would find the

answer to 6 X 3!

e 5X3+4+6
e 5X343
« I5+3
« |5+ 6
e 3X6

Explain how you know.

White
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